KasaxkcraHabik f?'” j PecnybnnkaHckui
KaWbIKTbIKTaH OTKI3iNneTiH J/’ LEHTP AUCTAHUMOHHbIX

onvmMmnuaganap opranbifbl onvmnuag

IPEJIMET: AHTJIMVMCKUM SI3BIK
KJACC: 8 KJIACC
BHecuTe 0TBeTHI N0 CCHIIKE, KOTOpasi npunuia Bam B yat WhatsApp

1. Mark the word which can’t be used for living organism description.
A) animal

B) climate
C) insect
D) fish
2. Match the words to the right translation.
1. protection A. Benpo
2. recycling B. zamura
3. bin C. 3anpenienue
4. prohibition D. nepepaboTka

A) 1D, 2C, 3B, 4A
B) 1C, 2A, 3D, 4B
C) 1B, 2D, 3A, 4C
D) 1A, 2B, 3C, 4D

3. Find the synonyms.

1. damage A. rubbish

2. getrid of B. the wrapping
3. the packaging C. hurt

4. litter D. throw away

A) 1C, 2D, 3B, 4A
B) 1D, 2C, 3B, 4A
C) 1B, 2D, 3A, 4C
D) 1A, 2B, 3C, 4D

4. Choose the appropriate word.
is one of the most serious problems.
A) Protection
B) Prohibition
C) Reducing
D) Pollution

5. Choose the appropriate word.
_____Isthe way to communicate with your partner who might be a thousand miles away using
the computer.

A) Tabloid

B) The Internet

C) Radio

D) Daily newspaper

6. Match the expressions to the right translation.
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1. quit working A. 10Ka3aTh MYKECTBO

2. it proved to be easy B. ynpaBisath komnanuei
3. manage the company C. npekpaTuth paboTaTh
4. prove courage D. 310 okazanock mpocTo

A) 1C, 2A, 3D, 4B
B) 1B, 2D, 3A, 4C
C) 1C, 2D, 3B, 4A
D) 1A, 2B, 3C, 4 D

7. Choose the appropriate verb.
| think that she will not____ to pass her exam.

A) manage
B) quit
C) prove
D) book

8. Choose the right definition of the abbreviation e.g.
A) and so on
B) for example
C) particularly
D) in one word

9. Choose the correct form of the verb.
____two kinds of newspapers in Great Britain.
A) Is there
B) Thereis
C) Are there
D) There are

10. Choose the appropriate verb
We enjoy shopping.

A) going

B) to going

C) togo

D) go

11. Choose the right translation
If people have thought about their future, they wouldn’t have cut down forests.
A) Eciu moau OyayT nyMaTh 0 cBoeM OyaylieM, TO OHU He OyayT BbIpyOath Jieca.
B) Eciu ObI 1011 OAYMa O CBOEM OyayIleM, TO OHH HE BRIpYOaiu ObI ceifuac sieca.
C) Ecxau Ob1 nr01141 TyMaimy 0 cBoeM OyIylieM, TO OHU He BeIpyOmIn Okl Jieca.
D) Eciuu Obl s1r01u gyMaiu o OyayieM, OHA Obl BRIPYOHIIH jeca paHbIIIe.

12. Choose the correct form of the verb.
If we were careful, we __among litter and wastes.
A) don’t
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B) wouldn’t live
C) won’t
D) wouldn’t have lived

13. Choose the correct form of the verb

PecnybnnkaHckui
LEeHTP AUCTAaHUMOHHbIX
onumnuag

If people hadn’t thrown away litter, the streets of our towns __ cleaner.

A) will be

B) were

C) would be

D) wouldn’t have been

14. Choose the correct form of the verb
He isused to __ alone.

A) living

B) live

C) have lived

D) lived

15. Choose the correct form of the verb.
The Channel Tunnel in 1994,

A) opened

B) was opening

C) was opened

D) had been opened



